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| MPLI CI T REAL*8( A-H, C-2)

GAUSS=0. 01720209895D0

Pl =DATAN( 1. 0DO) *4. 0DO

DCSPI =2. 0DO* PI

OBLI =23. 439291D0*PI / 180. 0DO

OPEN( 1, FI LE="dat os. dat ", STATUS="0LD")
READC( 1, *) A2, E2, YNC2, W2, CD2, AME2, T2, ASAM2
READC( 1, *) Al, E1, YNC1, W, OD1, AMEL, T1, ASAML
REAC(1,*) TIN

READC(1, *) NC
CLOSE( 1)

YNC2=YNC2* Pl / 180. DO
YNC1=YNC1*PI / 180. DO
WL=WL*PI / 180. DO
OD1=0D1*PI / 180. DO
AVE1=AME1* Pl / 180. DO
VW2=W* Pl / 180. DO
OD2=0D2* PI / 180. DO
AVE2=AME2* Pl / 180. DO

OPEN( 2, FI LE=" EFEM DAT", STATUS="UNKNOVW" ,

ACCESS=" APPEND")

10

20

V2N=GAUSS/ A2** 1. 5D0* ( 1. 0DO+ASAMR) ** 0. 500
VIN=GAUSS/ A1** 1. 5D0* ( 1. 0DO+ASAML) ** 0. 500
P2=A2* (1. 0D0- E2* E2)
P1=Al* (1. 0DO- E1*E1)

TI EMPC=TI NI - 1. DO

DC 200 1=1, NC
TI EMPC=TI EMPC+1. 0DO

AMR=V2N* ( TI EMPC- T2) +AVE2
| F(AMR. GT. DOSPI ) THEN
AMR=AMR- DOSP
GOTC 10
ENDI F
| F(CAMR. LT. 0. 0D0) THEN
ANVR =AM +DOSPI
GOTC 20
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11

21

ENDI F

CALL KEPLER(E2, AMR, AEX2)

R2=A2* ( 1. 0DO- E2* DCOS( AEX2) )

F2=DACOS( ( P2/ R2- 1. 0D0) / E2)

| FCAMR. GT. PI) THEN
F2=DOSPI - F2

ENDI F

X2=R2* DCOS( F2)
Y2=R2* DSI N( F2)
Z2=0. 0DO

CALL ROTAZ(X2,Y2, 72, -\, XP, YP, ZP)
CALL ROTAX( XP, YP, ZP, - YNC2, XR, YR, ZR)

CALL ROTAZ( XR, YR, ZR, - OD2, XE2, YE2, ZE2)

AML=V1N* ( TI EMPC- T1) +AVEL
| F(AML. GT. DOSPI ) THEN
AML=AML - DOSP
GorC 11
ENDI F
| FCAML. LT. 0. 0DO) THEN
AML=AML +DOSPI
GorC 21
ENDI F
CALL KEPLER(E1, AML, AEX1)
R1=A1* ( 1. 0DO- E1* DCOS( AEX1))
F1=DACOS( ( P1/ R1- 1. 0D0) / E1)
| F(AML. GT. PI) THEN
F1=DOSPI - F1
ENDI F

X1=R1* DCOS( F1)

Y1=R1*DSI N( F1)

Z1=0. 0DO

CALL ROTAZ(X1,Y1,Z1,-W, XP, YP, ZP)
CALL ROTAX(XP, YP, ZP, - YNC1, XR, YR, ZR)
CALL ROTAZ(XR, YR, ZR, - OD1, XE1, YE1, ZE1)
XC=XE2- XE1

YG=YE2- YE1

ZC=ZE2- ZE1

DEL TA=DSQRT( XC* XC+YC* YC+ZC* ZC)

BETA=DASI N( ZG/ DELTA)
ECLC=DACOS( XC/ DELTA/ DCOS( BETA))
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AFASE,
200

33

| F(YC. LT. 0.0D0) THEN
ECLC=DOSPI - ECLO
ENDI F
GBETA=BETA* 180. 0D0/ Pl
GECLC=ECLC* 180. 0D0/ Pl

CALL ROTAX( XC, YC, ZC, - OBLI , XF, YF, ZF)

DEC=DASI N( ZF/ DELTA)

AR=DACOS( XF/ DELTA/ DCOS( DEC) )

| F(YF. LT. 0. 0D0) THEN
AR=DOSP! - AR

ENDI F

GDEC=DEC* 180. 0D0/ P

HAR=AR* 180. 0DO/ Pl / 15. 0DO

COSELC=- ( XE1* XG+YEL1* YG+ZE1* ZC) / R1/ DELTA
EL ONG=DACOS( COSELC) * 180. DO/ Pl

CAFASE=( ( XE2* XG+YE2* YG+ZE2* ZC) | R2/ DELTA)
AFASE=DACOS( CAFASE) * 180. DO/ PI

FASE=( 1. DO+CAFASE) / 2. DO

VWRI TE( 2, 33) TI EMPC, HAR, GDEC, GECLC, GBETA, R2, DELTA, ELONCG,
FASE
CONTI NUE

CLCOSE( 2)
FORMAT( F12. 2, 4F12. 6, 2F11. 6, 2F8. 3, F6. 3)

STOP
END

SUBROUTI NE KEPLER( EXCE, ANOVEDI A, ANOVEX)
| MPLI CI T REAL*8(A-H, C- 2)
E=ANOVEDI A
DC | =1, 100
E=ANOVEDI A+EXCE* DSI N( E)
ENDDO
ANOVEX=E
RETURN
END

SUBROUTI NE ROTAX(XI , Y1, ZI , ANG, XF, YF, ZF)
| MPLI CI T REAL*8(A-H, C-2)

YF=YI * DCOS( ANG) +ZI * DSI N( ANG)

ZF=- Y1 * DSI N( ANG) +ZI * DCOS( ANG)

XF=XI

RETURN

END
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SUBROUTI NE ROTAZ(XI, Y1, ZI , ANG, XF, YF, ZF)
| MPLI CI T REAL*8(A-H, C- 2)

XF=X| * DCOS( ANG) +YI * DSI N( ANG)

YF=- XI * DSI N( ANG) +YI * DCOS( ANG)

ZF=27I

RETURN

END
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